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Averages for test set 1 by scale:

|scale” tps ‘|avg_latency‘|90%<Hmax_latency‘
[ 1] 20fs328]  22.279 291 605.32)




(1 row)

Averages for test set 1 by clients:

1]

L1

|
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|

1]
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|
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L1

|clients” tps ‘|avg_latency”90%<||max_latency‘
1| 109 9.189| 8.348]  119.242|
2| 110| 18.25/24.985|  130.072|
4 223  17.924| 22.26|  175.645|
8| 452  17.737[19.624|  138.633|
16| 971  16.558| 19.58|  218.405
32| 2393  13.397|[17.017]  298.95|
50/ 3662| 13.63) 17.48|  424.325|
150/ 7903  18.893[24.955]  625.005]
25011534  21.525/[27.308|| 1661.818|
350/[(11923 29.046/35.917||  1499.111
450(12101)  36.701/[48.117|  1556.005|
70012562  54.494[83.603|  416.63]

Averages for test set 1 by scale and client:

|scale”clients” tps ||avg_latency|| 90%< Hmax_latency|
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200 1f| 109 9.189| 8.348|  119.242
20| 2| 110 18.25/24.985]  130.072|
20 4] 223  17.924) 22.26]  175.645|
20| 8| 452  17.737[19.624]|  138.633
20| 16| 971 16558 19.58]|  218.405|
20 32| 2393|  13.397[17.017|  298.95|
20| 50| 3662 13.63|| 17.48|  424.325|
20| 150 7903|  18.893|[24.955]  625.005|
20/ 250(11534|  21.525/[27.308| 1661.818|
20| 35011923  29.046[35.917|| 1499.111]
20| 450(12101  36.701][48.117] 1556.005|
20/ 700(12562|  54.494/83.603|  416.63|

Detail for test set 1:

|test”scale||clients|| tps ‘|max_latency‘|chkpts||buf_check”buf_clean‘|buf_backend‘|buf_alloc||max_clean‘|backend_sync|

[ tfsz | 20 1 o] 133.331] o] 0 0 45| 59 0 O|
[ s [ 20] 1 09|  99.343] o 0| 0| s 4| 0 0|
[ tJer | 20 1 10| 125053 o] 0 0 s 4 0 0
[ 1fss | 20] 2f 0] 16642 o] 0 0 46| 4 0 O|
[ o ][ 20[ 2 110] 131944 o 0 0| 46| 49| 0 0|
[ tfe2 | 20 2 109] 141629 o] 0 0 s 4 0 0
[ 5o | 20 4] 220] 191619] o] 0 0 88| 88| 0 O|
[z ][ 20[ 4 221 183298 o 0 0 83| 89 0 0|
| tJes | 20 4] 228] 1s2018] o] 0 0 2| 9 0 0
[ tJeo [ 20 8 48s] 141667] of 0 0 193] 192 g O|




[tz 20| 8 3] 07| o o o 2| an|  q 0
(B2 2] 8 @9 w43 o o o [ | 0
[ 1fler ][ 20 16 1034] 191.855] 0 0| 0| 404 403 0| 0|
(Am [ 20 s o1 e[ o o o a0 w9 0 0
[ 1fes [ 20 16 1008 271538 0] 0| 0| 395 394 0| 0|
[1fle2 ][ 20 32 2284 268671 0 0| 0| 889 890 0| 0|
[ 1za ][ 20 32 2s86] 359517 0 0| 0| 1004/ 1002 0| 0|
[ 1fee [ 20 32[ 2309 268.661] 0] 0| 0| 904 905 0| 0|
[ 13 ]| 20 0 3695 423.869 0 0| 0| 1430/  1443| 0| 0|
[1zs ][ 20 so 3614 423632 0 0| 0| 1405|| 1405 0| 0|
[ 1z [ 20 s0 3676  425.474] 0] 0| 0| 1433 1432 0| 0|
[ 1flea ][ 20 150[ 8016 34175 0 0| 0| 3143| 3143 0| 0|
[ 1z6 ]| 20 150[ 7987  2s8.011] 0 0| 0| 3103| 3107 0| 0|
[ 1fes [ 20 150 7756 1275.253] 0 0| 0| 3037 3045 0| 0|
[ 1fles || 20] 25012052  266.491] 0] 0| 0| 4733 4733 0| 0|
[ 1zz ]| 20] 2s011382]  2180.08] 0 0| 0| 4482 4481 0| 0|
[ 1fea [ 20 25011168 2538.882[ 0] 0| 0| 4394 4394 0| 0|
[ 1fls6 ][ 20] 3s0[11539] 3039.918] 0] 0| 0| 4598 4597 0| 0|
[ 1z8 || 20] 35012175 1116.837] 0 0| 0| 4837| 4839 0| 0|
[ oo [ 20 3s0[12056] 340579 0] 0| 0| 4787 4786)| 0| 0|
[ 16z ][ 20] 4s0]12399]  339.949] 0 0| 0| 4960 4967 0| 0|
[ 1z9 ][ 20] 4s0f11531] 3866.235] 0 0| 0| 4646 4706 0| 0|
[ 1for [ 20 4s012371]  461.832[ 0] 0| 0| 4939 4943 0| 0|
[ e || 20 700[12651]  570.085[ 0] 0| 0| 5112 5134 0| 0|
[ 1fso ][ 20 700f12s61]  335.643] 0 0| 0| 5102 5102 0| 0|
[ 1oz [ 20 70012476 344162 0] 0| 0| 5075 5084 0| 0|
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Averages for test set 2 by scale:
|scale” tps Havg_latency”90%<Hmax_latency‘
[ 2] 205228  23.201[30.721 224915




(1 row)

Averages for test set 2 by clients:

|c]ients|| tps Havg_latency“90%<||max_latency|
[2[ 1 108 9221/ 8.345|  148.257|
[2] 2] 109 18.302[22.304]  147.156]
[ 2] 4] 220 18201 19.53]  163.663
[2] 8] 437] 1828724863 152931
2 16] 874  18.287[22.809  150.111]
[ 2 32[ 1741  18.361[24.844]  164.101]
[ 2] s0[ 2706]| 18.44/24.856|  210.468|
[ 2] 150 7608 19.619[26.097] 322522
[ 2| 25011607  21.367[27.832  305.523
35012328  28.093(35.537|  330.339
[ 2] 45012472 35.57148.516]  281.297]
[ 2] 7oof12524]  s4.662[83.115]  322.607]

Averages for test set 2 by scale and client:

|scaleHclientsH tps ||avg_latency||90%<Hmax_latency|

[2 20] 1 108 9.221| 8345  148.257|
[ 2] 20 2 109]  18.30222.304]  147.156|
2 20[ 4] 220] 18201 19.53]  163.663
[ 2 20[ g 437 18.28724.863|  152.931
[ 2] 20 16| 874]  18.28722.809]  150.111]
[2] 20 32[1741]]  18.361]24.844]  164.101]
[ 2] 20[ 0] 2706 18.44/24.856]  210.468|
[ 2] 20 150] 7608]  19.619]26.097]  322.522|
[ 2] 20[ 2sofi1607]  21.367][27.832  305.523
[ 2| 20[ 3s0[12328]  28.093)[35.537  330.339)
[ 2] 20 45012472  35.571]48.516]  281.297]
[ 2] 20[ 70012524  54.662][83.115]  322.607]
Detail for test set 2:

|test”scale||clients|| tps ‘|max_latency‘|chkpts||buf_check”buf_clean‘|buf_backend‘|buf_alloc||max_clean‘|backend_sync|

[ 2fo3 [ 20] 1 106] 164098 o 0| g “l 7| 0 0|
| 21os| 20 1 109] 150.969] 0] 0 0 s 4 0 0
[ 2z 20 1 110] 129704 o] 0 0 s 4 0 0|
[ 2foa [ 20] 2[ 107] 158253 o 0| g s 4| 0 0|
| 2] 20 2f 110] 141586 o] 0 0 46| 4| 0 0
[ 2fus] 20]  of 110] 141629 o] 0 0 46| 4 0 0|
[ 2fos [ 20] 4 222 14r077] o J J 83 89 0 0|
| 2oz 20 4] 217] 191609 0] 0 0 88| 87 0 0
[ 219 20 4] 220] 158303 o] 0 0 89| &g 0 0|
[ 2fos [ 20] 8 44of 158.316] 0 0 0 172 171] J q




| 2uos| 20| 8 49| wseer] o o o w2l n|  q 0
1 ) ) ) I 7 I 2 | 0
2z | [ o 8| _twesis] 0 o o o] 3w | 0
[2s[ 20| 16| se9| seam| 0 o o s sa] 0
1 2 ) ) ") = | 0
2 3 ) ) 2 I | 0
[ 2o 20 32[ 1742 150161 0 0| 0| 677| 677 0| 0|
[ 2[22] 20 321732 183632 0 0| 0| 677| 676 0| 0|
[ 299 ][ 20 0 2709 267227 0| 0| 0| 1054/  1054| 0| 0|
[ 2] 20 so 2704 194743 0 0| 0| 1054/  1053| 0| 0|
[ 2[23] 20 s0f 2705 169.434 0] 0| 0| 1054/  1053| 0| 0|
[ 2|[0o] 20] 150 7533  318.876] 0 0| 0| 2975 2976 0| 0|
[ 2[2] 20] 150 7678  289.193] 0 0| 0| 3005 3004 0| 0|
[ 2|[24] 20[ 150 7612  359.496] 0 0| 0| 3005 3004 0| 0|
[ 2Jfoa][ 20] 2s0f11514] 305777 0 0| 0| 4515 4540 0| 0|
[ 23] 20] 2s0f11626] 330444 0 0| 0| 4563 4576 0| 0|
[ 2|[2s] 20] 25011682 280347 0 0| 0| 4605/  4608)| 0| 0|
[ 2|02 20] 35012175 250933 0 0| 0| 4849|| 4848 0| 0|
[ 2[1a] 20[ 3s0[12174]  268.969] 0 0| 0| 4826 4833 0| 0|
[ 2J[26] 20] 3s0[12634] 471115 0 0| 0| 5006( 5012 0| 0|
[ 2|03 20] 4s0f12782] 274669 0| 0| 0| 5142 5146 0| 0|
[ 2[us] 20] 4s0f12332] 279751 0 0| 0| 4934 4934 0| 0|
[ 227 20] 4s0[12303[  289.471] 0] 0| 0| 4949|| 4954 0| 0|
[ 2Jo4] 20[ 70012521 272122 0 0| 0| 5134] 5139 0| 0|
[ 2[u6]| 20[ 700[12633] 302207 0 0| 0| 5195( 5203 0| 0|
[ 2|[128] 20[ 700[12420  393.491] 0 0| 0| 5050( 5053 0| 0|




